Subject: Re: Why Index array containing same index multiple time results only one
arithmetic operation
Posted by Wout De Nolf on Wed, 09 Jun 2010 09:46:08 GMT

View Forum Message <> Reply to Message

On Tue, 8 Jun 2010 21:52:30 -0700 (PDT), AKJ <jha.ashutosh@gmail.com>
wrote:

> |t there a way to force the idx to increment
> twice if the pair(idc,idr) occurs more than 1 in each iteration.

Similar to this:

a=lonarr(3)
ind=[2,1,1]
h=histogram(ind,omin=0min,omax=omax)
a[omin+lindgen(omax-omin+1)]+=h
print,a
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